1.

x+3

1

4
_1 +1
Y—4x

®y=
@



DI ax -3y +6=09] 71 17}—f cao] R

@D -2 ® -1 3 0 @ 2 ® 3



@ x=1
@ y=3

Dy=1

— |

®y=

@ x=3



ol 9k,
folet.

I

37N, ot B 6 A, = B 5 At
ol ok A90] 48



4 7 A 1, L, 1:, a4/ g b, OF, 1, 1EA

5.

il

7}A]

Ct-
=N



7HA]

Ch-
=






o kel e B ok R "
2 7HA7F?
5___
o/ |
/.
e
@ y=2x+1 ©y=x © y=-x-3
® y=2x+2 @ y=x-10?
@ 170 @ 270 ® 370 @ 47 ® 570



9.

M A x=3y=4 x+y=a’}
e



o] §7} Q& uf, 4 ] HE Foolah,



11.

721,02, 8, 0, 20 2 A A 2 7tE oA dom ot A
EHe o, 49 HH# EE 79 T e Bee BF 2 7Y
“stofet.




,LI_L
o3

il

—~
__OL

o
W

@
24 7}HA]
® 60
7}A]

@ 15 714

® 240 7FA]

@ 120 7}A]



13.

A, 94, g, AY 479 FH FoA HE 27

P
=7

D 5 ® 6 B 7 @ 8

®B 9



714



15. 0,1, 2, 3, 4,5, 6 & =A= Tl 2 71E Fot + 2= 45 e

o, offell A A st W ol sigste eAte FAUA FekeiEt.

Uh 20 WA Ze 4y,
R Lt

SER
c



16
. o
=93 2
g 717
s 73t L
i ° 7}o]
(& HA e
w%ﬂjiqe
Eo} H]—: 75]]\] A
S A e
27 9 i
=) e
| FRHES)

e =
7}A]



. 3,
s

g
rr N

@D 370

4, 59| $27F A3 7F=7} Q).
o] = E 7HA )17}

o] Fol|A 379 7=

@ 570 ® 970 @ 1070 ® 1570



18, Amupga (PXTY=H g Jaoby=s
ax+2y =18 dx-y=3

ol gste] Zgy WA It 2ot} oluf ¢, b © FHS 27t
|t &2 otofEt,



19.

FAAdy=x+2, y=2x-19 ¥HS A}, A4
240 FAA ax + by 4+ ¢ = 0 9] 2129

D x-3=0 @ y-5=0

@ 3x-2y+5=0 @ x+2y-3=0

® y=3x+5

_1‘_x:30ﬂ

A~
s

Al
]

il



20. A, B, C Al =A]7} Sl AoA BE 7h= 42 2714, BolA C2
7He Aol 57117k Stk AE E95te] BE AA C &2 Zithr} thA]
AR HEote = Wy H 7ix]Q7E? ( 9hd R FEot & &
Act)
® 674 @ 14744 ® 167H4

@ 207}A] ® 407}A]



